5) :
© T R T S
g : : : B -
S |
o
=2
o
107

.....................

0 1 2 3
TP n (PCA to beamline)

a(d cot(d))

Ratio

1072

107 Y=

T R T L e

15

ey

0.5

J

|
(o0 A AR AR

0 1 2 3
TP n (PCA to beamline)

—s=— DQM_V0001_R000000001__Global__cmssw1000time__RECO
—e— DQM_V0001_R000000001__Global__mkFitNewOLD1000time__RECO
—— DQM_V0001_R000000001__Global__mkFitNewDUP1000time__RECO

SICEWATL

107}

o10—2_||||l |i||||I||||I||||I||||
TS SO IR | NN | N ESO WArEW
N T A N R S
PR
0'5: 1 : ] g : |
=3 -2 -1 0 1 2 3

TP n (PCA to beamline)

o p/p.)

=

(3% R L L L

0 1 2 3
TP n (PCA to beamline)

oo a,) (cm)

Ratio

z

107}

1

1072
1.5

iy

0.5

|
[T

.........

] !
L. - 13 A N O A A | S 1 I
P AP I P I R 1 A M P A T 1 A

[l 1t

.........................

0 1 2 3
TP n (PCA to beamline)



	Contents
	Page 1


